Pre-Calculus 12 — Ch 5 Trigonometry

5.1-5.3 Worksheet Name: fﬂ/ N
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1. Find the reference angle of each:
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8. Find the exact value of each trigonometric function: _— o
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Pre-Calculus 12 — Ch 5 Trigonometry

5.1-5.3 Worksheet 2 Name: {00
1. Convert each angle to degrees: /
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2. Convert each angle to radians. Leave answers in exact values terms of .
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3. Find the i) reference angle ii) principal angle and iii) two coterminal angles of each:
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4. Determine the exact value of each: ") <« ;7T
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5. If cos@= —% and 7 <0 3—321[- , What is the exact value of coté.
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6. Point P (—4, —2) is on the terminal arm of an angle & in standard position. What is the exact
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7. The terminal arm of an angle @ in standard position passes through the point P (-3, 4) . Find
the exact value of cscd+tané. -
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8. If sinf= - and tané > 0, find the values of the other trig ratios for 8. tané = (40 '\f:?;é%
9. Given secl = ) and the terminal arm is in quadrant IV, find the exact values of csc8 and
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